THE USE OF GRAPHS AND TABLES
IN ESTATE PLANNING
By Ralph R. Neuhoff}

There are two kinds of transfer taxes, liability for which may be
incurred in passing property from one generation to another: estate
taxes and gift taxes. Although each operates in the same area, the
impact of the gift taxes is very much less than that of estate taxes, a
fact not fully appreciated by many people. The advantage gained by
incurring gift taxes through gifts designed to obviate the imposition
of estate taxes is so great that, as a practical matter, many or, in fact,
most taxpayers of substantial means should rely as heavily as possible
upon making gifts, if their object is to reduce the total impact of
transfer taxes upon their estates. The questions to be resolved are
just how far one should go and how one decides how much to give
away in order to benefit from the disparity of the tax treatment of
gifts as against transfers at death. This article deals with the ap-
plication of tables and graphs in finding the solution to the problem
of determining the advisable size of an inter vivos gift* for the pur-
pose of taking advantage of the tax saving which is available.

As will soon be discovered, it can cost more, instead of less, overall,
if the total gifts are increased beyond a certain point, but the determi-
nation of this point may be difficult with techniques ordinarily used.

If a gift is entirely exempt from taxation, making it is obviously an
expedient thing to do taxwise, at least up to the point where prospec-
tive estate taxes are entirely wiped out. In such circumstances, the use
of tables and graphs is not necessary, and this article will deal with
such gifts only in passing.?

T Lecturer in Taxation, Washington University School of Law. Senior partner,
Neuhoff & Schaefer.

1. Since gifts are cumulated for the purpose of determining the so-called
“lifetime” exemption of $30,000 and for purposes of the graduated gift tax im-
posed by Int. Rev. Code of 1954, § 2502, it will be assumed in this article that a
single gift is made in each instance, but several gifts amounting to the same sum,
if applicable against the lifetime exemption or if taxable, would have the same
result. It will also be assumed that the exclusion provided by Int. Pav. Code of
1954, § 2563(b) of $3,000 annually has either been availed of in some other
manner, or is not applicable-because the gift is one of a “future interest in
property.” It is assumed that the permissible trust for a minor under Int. Rev.
Code of 1954, § 2503 (c) is not deemed availaf)lg. See Neuhoff, Trusts for Minors
Under the 1954 Revenue Code, St. Louis B.J., Oct. 1955, p. 5.

2. Gifts entirely exempt from gift tax are included for completeness in the
tables presented herewith, see tables I and II, lines 1-5 infra and tables III and
1V, lines 1-8 infra.



USE OF GRAPHS 347

A. THE PROBLEM

Once it has been decided that the taxpayer® should contemplate the
making of an inter vivos gift, possibly by way of a trust, it is neces-
sary to come to grips with the problem of the size of the gift which
is to be made. Here it is advisable to systematize one’s consideration
of the estate plan, and, by reliance on certain assumptions, to sub-
stitute disciplined thinking for the vague guesses and surmises that
are only too often used. This is particularly important where the tax-
payer's circumstances are such that the saving of taxes may be ele-
vated to the status of a prime consideration and a relatively large gift
is practicable. It is here that a reliable forecast, showing the limit
beyond which an increase in the amount of the gift will not be ad-
visable taxwise, becomes particularly important.

In the method which is described in this article, assumptions are
made which cannot in the nature of things be entirely accurate. Here,
effort will be made to indicate the order of magnitude of the probable
error, and to see that the probable error is in the direction of conserva-
tism, i.e., that the putative saving in taxes indicated by the techniques
used wﬂl be a minimum saving, with any error in the caIculatlon hav-
ing the ultimate result of increasing the saving.

B. PREMISES ASSUMED IN ESTATE PLANNING

1. The family is treated as a unit. That is to say, one dollar of
advantage to one member of the family is treated as if it were exactly
offset if there is one dollar of disadvantage to another member of the
same family. Obviously this assumption is seldom entirely correct, but
it is beliaved to be acceptable to most clients.

2. If money is to be retained or if money is to be paid out and only
replaced by a corresponding benefit at a Iater date, probable interest
or earnings on the money should be considered, and if the hypothetical
interest is a substitute for income which would have been subject to
income tax when received, then allowance should be made in some
manner for the income tax which would have been thereby incurred.

3. A present benefit should be preferred over a subsequent benefit
which is equal to or even somewhat greater than the amount of the
present benefit plus interest for the intervening period. This is the
“bird in the hand” doctrine.

4. It will be assumed that assets on hand will remain in statu quo
indefinitely and not be depleted by losses or increased by capital gains,

3. The term “taxpayer” will be used to designate the owner of property who
is considering making a gift of it in orler to avoid or reduce the impact of estate
taxes on that same property which will be levied in the event of his death owning
the same. Obvicusly it is the estate and not the individual that is the “taxpayer”
for purposes of the estate tax.



348 WASHINGTON UNIVERSITY LAW QUARTERLY

and will be augmented by income earned thereon. That is, the re-
cipients of gifts will be no more or less likely to lose the funds by
misadventure or to increase them by wise management than the donor
would be.
Gloss

Where it is not reasonable to make this assumption, then one may
be deterred from making a gift, or expect good results from a gift,
as the case may be. The use of trust companies and other professional
trustees is deemed to justify the assumption which we have made
above. If there is a secular trend, this should not be ignored. For
example, if the estate of the taxpayer is invested in common stocks
and it is believed that these over-all will increase in value year by
year, this trend should be taken into account.

5. Family discipline is not a consideration.
Gloss - -

. Where this cannot be assumed, the gift should not be made, or
should be reduced in size so as to preserve the family discipline if this
is considered desirable,

6. The law applicable will remain unchanged.

7. As has been indicated* it is implicit in the procedure that the
making of numerous small annual gifts, taking advantage of the
$3,000 annual exclusion, is not deemed adequate or acceptable, either
because the amounts .disposed of are too small compared with the
whole estate or because it is desired to make conveyances by utilizing
a trust which will be a future interest and, therefore, not qualified for
the annual exclusion.

It is believed that clients generally will go along with the foregoing
assumptions. Nevertheless they should be brought out in the open and
candidly discussed,

C. SoME BasiC PRINCIPLES OF ESTATE PLANNING
1. First Principle: A gift may save estale taxes.

Obviously in those instances where making a gift does not entail
payment of a gift tax, if it decreases the taxable estate which will be
held at the death of the donor, the net effect will ordinarily be to save
estate taxes. But it may be that the making of a gift will incur a gift
tax liability. In such event there will ordinarily be at least four con-
sequences:

(a) A gift tax will be paid presently.

(b) The taxable estate will ultimately be reduced by the amount of
the gift and also by the amount of the tax on the gift.

4, Sea note 1 supra.
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(¢) The donor will thereafter suffer a reduction in income, not only
because he has parted with the amount of the gift itself, but also
because of the gift tax paid, but since a corresponding amount of in-
come will probably be received by the donee of the gift, we shall regard
only the reduction in income which is not thus offset, that is to say,
the reduction in income on the amount of the gift tax paid.

(d) The reduction in income will be offset in part by the saving in
income taxes on the donor, and there will be a reduction in estate
taxes ultimately paid, because the taxable estate will be smaller due
to the failure to receive such income.* ’

It is obvious that if the disadvantage consisting of the amount of
gift tax paid plus the loss of income (net after income taxes) is less
than the estate tax saved, there will have been a net financial advan-
tage in making the gift and, per contra, if the total amount of the gift
tax, plus the loss of income (net of income taxes) on the gift tax
money, is greater than the decrease in the amount of estate tax, then
there will have been a net financial disadvantage in making the gift.

There may be, and in most cases probably will be, a difference in the
income tax burden on income received by the donor compared with
the income tax burden on income received by the donee beneficiaries,
either directly or in trust. This is referred to under the heading
“Second Principle” immediately below. This possible difference is not,
however, taken into account in the tables submitted herewith, first,
because it is likely to be small in comparison with the other advantages
of the gift, and, second, because it is on the side of conservatism; i.e.,
it will in the ordinary case increase the benefit. In particular instances
this benefit should be calculated and the results presented to the client
by techniques analogous to those recommended in this article.

2. Second Principle: Income tax impact may be decreased by
increasing the number of recipients of income to obtain lower
rates and more deductions.

It is familiar learning that with a graduated income tax, other
things being equal, the lower the rate at which the income tax is
imposed, the less the tax will be. This can be accomplished by dividing
income into various parts, by increasing the number of recipients of
income, and by utilizing a trust or trusts as a recipient of all or part

5. The reduction in estate due to failure to receive income is introduced into
the calculation in the tables by column (d). Observe that we reduce the estate
in column (e) not only by the amount of the gift and the gift tax on the gift, but
also by the amount of “increase” that would have been received (net of income
taxes) up to the date of death, which is assumed in our examples to occur three
years after the date of the gift.
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of the income either permanently or for a limited period.* As before
" stated, this expedient is not involved in the particular tables and
graphs presented in this article. It is mentioned for completeness only
and we bid it farewell at this point.

3. Third Principle: A life estate with a remainder over will
ordinarily save a second estate tax.

It is- familiar estate planning to set up an estate with one bene-
ficiary, such as the widow, receiving the income for life and with the
remainder going over to others, such as the children. A transfer of
the economic benefit from the widow upon her death to the children is
not, under our federal estate tax law, a taxable event, although it
would be under the estate tax of the United Kingdom.” This principle
is not involved in the charts and tables presented in this article.

While the second and third principles above mentioned are not to
be overlooked in estate planning, and may yield gratlfymg results
in particular cases, it seems clear enough that an inter vivos gift in an
appropriate situation either with or without reliance on the first
principle and the second prineciple, is the main expedient for tax re-
-duction with many taxpayers.*

D. CautioNs To BE OBSERVED IN PLANNING GIFTS

1. The death of the taxpayer may occur “too soon.”

While an inter vivos gift may result in a tax saving even though it
is deemed to be in contemplation of death under the Federal Internal
Revenue Code,? the principal beneficial effect of such a gift is obtained

6. Multiple trusts, that is trusts which are similar but are legally separate,
although they are for the benefit of the same beneficiaries and created by the
same donor, have been the subject of much criticism and it is quite possible that
ultimately legislation will be enacted limiting the possibilities in this direction.
See, e.g., Mills, Possible Tax Legislation in the 86th Congress, XXXIX P-H Fed.
Tax Rep. Bull. 36, § 1 (Sept. 4, 1958). However, it is believed that with reasonable
care a considerable number of trusts may be created which are sufficiently differ-
ent as to beneficiaries, donors, dates of creation and purposes, to effectually
prevent aggregaticn of the income of such trusts and taxing it under one schedule
of .taxation.

7. Brudno and Bower, Taxation in the United Kingdom 75 (Worl& Tax Series,
Harvard Law School International Program in-Taxation) (1957).

8. The marital deduction in connection with the estate tax and the gift tax is
considered for purposes of this article as a mode of application of the tax rather
than an instrumentality of estate planning. This is for convenience of presenta-
tion only and not because of lack of appreciation of the effectiveness of these
deductions in lessening the impact of the respective taxes.

9. This saving results from depletion of the taxable estate due to incurring
gift tax liability, which depletion occurs even if the amount given is included in
the gross estate, plus the effect of credit for gift tax paid allowed by Int. Rev.
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when the donor does not die within a period of three years from the
date of the gift.® It is necessary, however, to ascertain what would be
the result in the event that the donor does not live the requisite three
vear period, since in most instances the surrounding circumstances,
e.g., its large size relative to the fotal estate, will be such that the gift
will otherwise be deemed to be in contemplation of death and, there-
fore, the value of the property given will be included in the gross
estate under section 2035 (a).?

2. Dcaths may occur in the “wrong order.”

An estate plan may be set up on the hypothesis that the husband
will die before the wife.”* However, even where there is a considerable
disparity in ages, it is by no means a foregone conclusion that such
will be the case. It is necessary, therefore, to test out the plan after
it is formulated to find out what would happen if the wife should either
die simultaneously with or prior to the death of the husband, par-
ticularly with reference to the liquidity of both estates under such
circumstances. The liquidity problem is discussed immediately below.

3. Liquidity must be preserved.

This is an individual problem, but it is necessary after the initial
projection of a plan which involves any gifts which are large in pro-
portion to the value of the total estate (and it must be remembered
that in order to get the maximum benefit the gift will be large when
compared to the total estate) to forecast accurately the source of funds
which would be available to pay not only the contemplated gift tax
but also estate taxes of both spouses, assuming that the wife prede-
ceases the husband, and, moreover, that the husband fails to survive
the requisite period of three years from the date of the gift. Such a
combination of circumstances may greatly increase the total tax re-
quirements,

Accordingly, a “liquidity study” should be made showing the source
of funds and requirements for cash if the death of the taxpayer should
occur at various hypothetical dates, such as (a) immediately after the

Code of 1954, § 2012. It fails to occur when the advantage gained by depletion
of the estate for estax tax is wiped out by failure to be allowed the full amount
of gift tax paid due to the complicated proration provided in § 2012,

10. Int. Rev. Code of 1954, § 2035(b).

11. See text, § D3 infra, for a discussion of liquidity in such event.

12. In the discussion it will usually be assumed that the husband dies before
the wife and that she is the “surviving spouse.” It should be understood that this
is for convenience only and that the same example could be restated identically
by interchanging the positions of husband and wife, if she chould be the first to die.
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gift is made, (b) immediately prior to the expiration of the statutory
three year period, and, possibly, (c) at other dates.

It may well be that considerations of liquidity will prevent a pro-
spective donor from going the whole way, i.e., making a gift as large
as he otherwise would be tempted to do if he were assured that he
would die before his wife and would live at least a minimum period
of three years after the date of the gift.’s

4. Tazx saving should be balanced against economic advantage.

1t is obvious that in many instances the full theoretical tax saving
cannot be obtained because it will entail economic consequences which
are not desired by the taxpayer. Here the planner should not be in a
position ef urging unduly a course of action merely on the ground that
it is calculated to save taxes.

E. GrarHs AND TABLES To DETERMINE SIZE OF GIFT

For our purpose, a graph may be defined as a presentation on a
chart with values assigned to linear distances. As we shall apply it,
an equal distance in a given direction will represent an equal dollar
amount or an equal elapse of time and not a percentage change. Ac-
cordingly, we shall not use logarithmic charts, although there may be

" instances in which the use of logarithmie charts (in which an equal
distance shows an equal percentage change) would be indicated if we
could assume familiarity with charts of this type on the part of clients
and their advisors. )

Also, in the interest of simplicity, in all of our charts we shall use
right angle coordinates in the same plane and shall not endeavor to
present graphically minus quantities.

The merits of a graphic presentation are that, first, it tends to
detect errors in calculation,’ and, second, it presents in clearer form
the data assembled in the tables. A third advantage is that a properly
constructed chart may eliminate the need for numerous intermediate
calculations, thereby saving labor and time. i

For our purpose, a table will be defined as an array of numerical
amounts in columnar form intended to show the relationship of quan-
tities. Some, but not all, of the quantities exhibited by the table will be
shown on the graphs in the figures which accompany this article,

13. Sometimes it is necessary to cut the gift into two or more parts arbitrarily.
For example, one might give as.much as is “safe” from a lquidity standpoint
at one time and then wait three years to give the remainder.

14. Since the relationship of the gift and estate tax structures is relatively
regular, an error in calculation of any considérable magnitude will usually show
up when plotted because the point representing the result will not lie “in the
curve.” The author has experienced a number of instances where even a small
arithmetical error came to light in this manner.
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The outstanding advantage of graphs over tables is that a graph
will probably indicate to most people a relationship of quantities which
is more easily comprehended than the same relationship which appears
merely from a table of figures. It will be found, however, that clients
vary in this respect; it may well be that some persons are wholly un-
able to grasp the relationship intended to be exhibited by a curve or-
graph on a chart, whereas they would be quite able to interpret the
same information from a table of figures. In such a case, the presen-
tation to the client would be in the shape of a table of figures, even
though for his own convenience in considering the plan the advisor
may think it desirable to use a graph.

The graphs which are presented herewith have been reduced to
approximately one-half of their original size. They were originally
made on engineering type of ruled paper which is readily obtainable
at stationers. For the benefit of those who desire to pursue the sub-
ject, further details are given in a footnote.?*

The preparation of the table precedes the preparation of the chart.
The table should be prepared with the use of a calculating machine
capable of doing direct multiplication.’® In order to project the amount
to which a fund will grow if it is invested at a given rate of interest,
compounded periodically, it is highly desirable to have access to a
ready-made or published series of calculations' showing the amount
after a term of years on unit original principal at a given rate of
interest; and in order to project the growth of a donor’s estate where
he anticipates receipt of uniform sums of money such as salary or
income from investments, it is desirable to have access to a published

15. The paper used was Keuffel & Esser Co., No. 358-11L, 10 x 10 to the
14 inch. It has been found that the chart which contains 20 squares vertically
and 30 squares horizontally, each of which is in turn subdivided into 10 parts,
will conveniently accommodate the graphic presentation of an estate of any size,
whether it be $100,000 or $10,000,000. All that is necessary is to assign an
appropriate value to each square. In table I, each square represents $500, and in
table 11, each square represents $250. It was not practicable to reproduce both
large and small squares in the accompanying figures, but in actual practice the
presence of the squares makes it possible to obtain intermediate readings from
the graph through the very simple process of counting the number of squares
at the point where any line is intercepted by the curve on the graph.

16. Such as the Monroe, Marchant, or Friden; but a printing caleulator such
as the Remington-Rand can be used. A ten-inch slide rule can also be used.

17. The ready-made or published tables should be distinguished from the tables
which are produced for the special service of a particular taxpayer. By ready-
made or published tables we refer to series of calculations of the amount at com-
pound interest or the value of an annuity or like items, such as are used by
actuaries, investment counselors and others, and which may be purchased in book
form for a small sum. In this article a reference to a table without a qualifying
adjective will mean a table produced by the tax planner, except where the context
clearly indicates otherwise.
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table which gives the amount of an annuity of unit value per period
after a period at an assumed rate of interest. Other published tables
may be found useful in particular cases.'

Since the underlying principle of the technique suggested by this
article is that the change due to elapse of time should be predicted as
accurately as possible, it is necessary that some means be at hand to
carry out the steps necessary to make this prediction. In the interest
of completeness, there is set out below in a footnote® the formulae for
the derivation of the two sets of figures which will be needed in our
calculation so that the estate planner may carry out the technique here
suggested even though published tables such as those referred to are
not at hand. Of course, this will involve some additional calculation,
and every effort should be made to use ready-made tables.

Construction of Table I.

The technique which is now proposed by this article is that the
estate planner should construct an appropriate table of figures prior
to presenting the conclusions in graphic form. The table should be
based upon the facts of the particular case.

In order to demonstrate the technique, we shall first assume a client
who has a sufficient estate so that if he dies immediately after the end
of three years from the date of the proposed gift, his estate for federal
estate tax purposes will be valued at $500,000. It is also assumed that
he-is a single man and that the value to him of the use of the money
will be equal, after income taxes, to 314 per cent compounded semi-
annually.?® Since he is not married, he will not have the advantage of

18. Such published tables are found in Chemical Rubber Publishing Co., Stand-
ard Mathematical Tables (10th ed. 1956) (hereinafter ecited as Standard Tables),
which also contains, incidentally, five-place logarithms which may be useful in
calculations involving multiplication of large figures if one does not have access
to a calculating machine.

19. The formula for the amount after a term of n periods on unit original
principal at rate of interest ¢ is (1 + )7, where 1 is original principal, e.g., $1.00,
and i is the rate of interest, e.g., 1% %, and = is the number of periods, e.g., six.
Substituting, we have (1 + .0175)¢ = (1.0175)¢ = 1.0970235. See Standard
Tables 336. It would be necessary to use logarithms to find the nth power of
the amount in parentheses, unless one was willing to actually perform the multi-
plication as many times as the exponent indicates. The formula for the amount
of an annuity of unit value per period after a term of n periods at rate of interest
i per period is: [(1 + i)* — 1] =1, where 1 represents unit value, e.g., $1.00, and
i is the rate of interest per period, e.g., 1% % and = is the number of periods, e.g.,
six. This is usually indicated as (*, at {). See Standard Tables 352. Substitut-
ing in the formula we have [(1 -+ .0175)* — 1] =+ 0.175 = [(1.0175)* — 1]
~+ 0175 = (1.10970235 — 1) - .0175 = .10970235 - .0175 = 6.26870596.

20. This figure was used because it corresponds in some instances to what
might be cbtained by investment in municipal bonds free of income tax. In other
words, it may be quite realistic if the client is a municipal bond buyer.
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splitting gifts with a wife, nor will he have the advantage of a marital
deduction for purposes of federal estate tax. It is assumed that the
gift to be made is a future interest, and, therefore, not entitled to the
$3,000 annual exclusion and that the lifetime exemption of $30,0002
has not been used.

In the interest of simplicity, we shall make one further assumption
which will not be entirely accurate, namely, that the gift tax is payable
at the same time as the gift is made. Actually, of course, the gift tax
will be payable within a period of three and one-half months after the
close of the calendar year in which the gift happens to be made. In
the event that the gift is made at the end of the year, this interval
might be as short as three and one-half months plus one day. And on
the other hand, if the gift is made toward the beginning of the year,
which is considered good planning, this interval might be as long as
864 days, plus three and one-half months.

The purpose of table I is to show, for the various assumed amounts
of inter vivos gifts set forth in the first column, the net effect, tax-
wise, of making each such gift. For purposes of example, we shall
assume that in each instance the gift is made on J anuary 1, 1959, and
that the donor lives until January 2, 1962, which will prevent the gift
from being considered as being made in contemplation of death for
purposes of federal estate tax. We take into account the provisions of
the Internal Revenue Code* requiring payments of the federal estate
tax fifteen months after the date of the decedent’s death, in our hy-
pothetical example, that is April 2, 1963.

It is not to be expected.that in actual practice calculation will be
made for all of the amounts shown in table I. However, because it
was thought that some readers might desire to use the accompanying
tables as a rough guide for the cases of taxpayers who have approxi-
mately the same amount of taxable estate, a rather detailed breakdown
of hypothetical amounts of gift has been made.?* Referring to table I,
line 6, $40,000 is the smallest amount shown which will entail the
payment of a gift tax. The amount of this tax is shown in column (b)
as $375. The amount of reduction of the taxpayer’s estate caused by
the gift, however, will be the sum of the tax plus the amount of the
gift, or $40,375, which is shown in column (c). Allowing for the in-

21. Int. Rev. Code of 1954, § 2521.

22. Int. Rev. Code of 1954, §§ 6151(a), 6075(a). P-H 1958 Fed. Tax Serv.
1 120,013 states, “The estate tax accrues at instant of decedent’s death. The fact
that the representatives of the estate are allowed fifteen months is nothing more
or less than a matter of grace, and the voluntary establishment of a time limit
within which the Government agrees to refrain from pressing for payment.”

23. In actual practice, it would not be necessary to go through all of these
steps. A few calculations would suffice to indicate the area which was of interest
to the particular taxpayer, and only these calculations need be made.
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crease which would have taken place by our hypothesis between the
date of the gift and the date of payment of the federal estate tax if
the taxpayer had died immediately after the expiration of three years
after the gift was made and the tax was paid immediately before the
expiration of fifteen months from the date of death, the amount of the
estate which would have been represented by the $10,375 shown in
column (¢) would have been $14,804.23 shown in column (d). Thus,
if the estate at the date of death, had no gift been made, would have
been $500,000, it now will be a lesser amount, the difference being the
paid amount of $44,804.23. This is shown in column (e). The estate
tax on this reduced amount is shown in column (f) and the difference
between the estate tax which would have been paid on a $500,000
estate, and that which would be paid on the reduced amount is shown
in column (g). :

However, the taxpayer has lost the use of the gift tax money for
the period which we have assumed to be the time elapsing from the
date of the gift until the time for the payment of the federal estate
tax. We designate the amount of the gift tax plus an amount repre-
senting this loss of use of the gift tax money, as “gift tax plus in-
crease” and show it in column (h). As has been explained before, the
time for the payment of the gift tax does not bear a fixed relationship
to the date of the gift because the gift may be made at any time dur-
ing a calendar year and accordingly, we have assumed for simplicity’s
sake that the gift tax was incurred as soon as the gift was made. The
difference in the estate tax saving and the gift tax cost is shown in
column (i) as the net tax saving.

To summarize this portion of the discussion, if the taxpayer would
make a gift of $40,000 presently, he would, of course, no longer have
this amount in his assets, but three years will have to elapse before
he can be sure that it will not be considered a gift in contemplation
of death and, therefore, includible in his gross estate for federal estate
tax purposes.? On the other hand, if he does live the requisite period
of three years, this danger no longer exists.

He will, however, have suffered another disadvantage; that is to
say, he will have paid out at the proper time the sum of $375 as a gift
tax by reason of the gift. As before stated, we are assuming that this
taxpayer is 2 single person and that he has not used any of his life-
time exemption of $30,000, but that the gift is made in the form of a2
future interest. It is also assumed in our example that the portion of
the estate of the taxpayer represented by the $40,000 gift was invested.
in such a way that if it had not been transferred by way of a gift, it
would have resulted in the receipt of income to the taxpayer. It is our
problem to reflect the probable change in his estate due to the diver-

24, Int. Rev. Code of 1934, § 2035(b).
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sion from the taxpayer to some other beneficiary of the income on the
$40,000. We arbitrarily assume for purposes of table I that the tax-
payer would have received sufficient income from the $40,000 invest-
ment so that, after paying personal income taxes at the top bracket, he
receives 314 per cent and that this is compounded semi-annually.

. Since three years is a relatively short period of time, even with com-

pounding semi-annually we Wwould have been required to make only six
caleulations, one for each half year, to show the result of the retention
of this income and its reinvestment. However, occasion may arise to
calculate the result of compounding interest for a2 much longer period
and, at all events, even the calculation for six semi-annual periods is
somewhat laborious. To avoid making two separate series of calcula-
tions, one for the amount of the gift and the other for the amount of
the gift tax paid, we assume that the gift tax is paid at the same time
that this gift is made. This enables us to aggregate the amount of
the gift, which is shewn in column (a) and the amount of the gift tax,
which is shown in column (b), the arithmetical sum being shown in
column (c). The problem, as thus simplified, is to find how much the
sum in column (¢) will increase in three years if invested at 314
per cent per annum, compounded semi-annually, no deduction being
made for income taxes. - The published table needed for this purpose
is “amount at compound interest,” which is more fully described as
“the amount after a term of » years on unit original principal at rate
of interest 7.” Since 314 per cent per annum amounts to 134 per cent
for each half year and we are compounding semi-annually, we use the
column in the published table for 134 per cent at the end of six pe-
riods, which shows that the sum of one dollar would have grown to
$1.10970235 at the end of the six periods. This, therefore, furnishes
the constant which we multiply by $40,000 to arrive at the figure
shown in column (d) on line 6, namely $44,804.23.> We are assuming
that the $40,000 original investment will continue to bear income, but
this will be in the hands of the new holder and, therefore, will not
augment the estate of our hypothetical taxpayer. We have assumed
that his estate was such that by the end of the third year from the date
of the gift it would have just reached $500,000. This means, of course,
that it is less than $500,000 at the time the gift is made. If one should
desire to Imow how much less, the answer is easily arrived at by
dividing $500,000 by this same constant, which appears at the head
of column (d), namely 1.10970235. The result of this division is
$450,571.25. - .

Put in another Wéy, every dollar that was invested in our hypotheti-
cal taxpayer’s assets would have increased to approximately $1.11 at

25. Standard Tables 338 (right hand column, sixth entry shows this constant).
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the end of the third year from the date of the gift.*®* Therefore,
$10,000 amount of gift and $375 amount of gift tax would have in-
creased, according to our hypothesis, to $14,804.23, which, therefore,
is the amount which must be subtracted from $500,000 in order to
show the net impact of the gift plus the gift tax plus the increase
which would have taken place if the gift had not been made.?” Sub-
tracting the amount of the increase of $144,804.23 from $500,000, we
have a result of $455,195.77, which is the entry on line six in col-
umn (e).

By the same token, the estate tax on this reduced amount is less than
the estate tax would have been on $500,000. Since we have ascertained
and entered on line 1 in column (f) the estate tax on the taxpayer if
he had an estate valued at $500,000 at the date of his death, it is only
necessary to enter on line 6 in column (f) the amount of estate tax
which would be payable on the smaller sum of $455,195.77. This was
found by calculation to be $112,100. It is obvious that the difference
between this latter sum and $126,500 is the estate tax “saving” tak-
ing place not on the date of taxpayer’s death, but on the date when the
estate tax is payable, which will be fifteen months after the taxpayer’s
death.

This difference in time must be noted because it is reflected in table
I. The process of reasoning is that the gift tax was assumed to be
paid at the date of the gift,?® but that the saving in estate taxes is
only reflected as a benefit to the taxpayer’s estate at the date that the
estate tax would have been payable, which we are assuming for pur-
poses of table I, would be one year and three months after the date of
death. We had a definite date for the making of the gift, since the
three year period with respect to contemplation of death runs from
the exact date of the gift. Accordingly the gift, for purposes of our
example, was assumed to have been made on January 1, 1959, and
accordingly the elapse of time between the date for payment of the
gift tax and the date for payment of the estate tax in our particular

26. Even though not all of a taxpayer’s assets may be invested in such a way
as to increase with any regularity which may be counted upon, the effect of the
gift upon his estate will be accurately reflected if the assets selected to be donated
are income bearing at the rate assumed. If the facts indicate a different rate of
growth, that rate should be substituted.

27. We are assuming that the executor or administrator of the taxpayer’s
estate will not elect an optional valuation date. Within the framework of our
basic assumytions, however, this makes no difference, because the valuation one
year from date of death would be no less than the valuation at date of death,
since we assume a uniform increase in value due to the income increment with no
set-backs due to market decline,

28. This assumption is made for convenience only; as indicated at page 356
supra, the time interval between the gift and payment of the gift tax is uncertain.
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example is four years and three months or four and one-fourth
years.®

We have arbitrarily assumed that our taxpayer’s estate grows uni-
formly at the rate of 814 per cent per annum after income taxes com-
pounded semi-annually. The problem, therefore, is to ascertain the
amount of growth which would take place in four and one-fourth
years. Again consulting the published tables for compound interest at
134, per cent per period, it is found that there is a figure given for
eight periods, which would be four years, and a figure for nine pe-
riods, or four and one-half years. We have recourse to arithmetic
1nterpo]atlon and arbitrarily assume that the constant for eight and
one-half periods, which would be four and one-fourth years, would
be the arithmetical average between the constant for the eighth
period and for the ninth period. This calculation is shown in the foot-
note.*® This gives us the constant of 1.15893449, which is entered at
the heading of the column (h). The meaning of this figure is that
one dollar held by the taxpayer on the date of the gift would have
grown by investment after payment of federal taxes, to approxi-
mately $1.16. We are saying, therefore, that when a taxpayer chooses
to part with one dollar on the date of the gift, he is “damaging” the
value of his estate at date of death to the extent of approximately
$1.16 if he will die at the end of three years from the date of the
gift. It is obvious,. of course, that he may live considerably longer,
and therefore, depending upon the circumstances of the case, one
may construct tables covering the situation analogous to that in
our table I, but with different factors for the elapse of time, taking
into account various possibilities, such as that the taxpayer may
live seven years after the date of the gift, ten years after the date
of the gift, ete. It should be noted, however, that especially with

29. Throughout this article we are tacitly making assumptions in the interest
of simplicity. Here we are ignoring the privilege of deferring payment of estate
taxes authorized by Int. Rev. Code of 1954, § 6161(a) (2). See Mim. 4303 C.B.
June, 1935, p. 133, P-H Est. & Gift Tax Serv. { 123,153.1 (1958), which indicates
that interest at the rate of six per cent per annum will be charged on the deferred
balance. The fact that such interest must be paid will approximately balance out
the effect of delay so far as our calculation is concerned.

30. The Standard Tables 338, amount at compound interest at 1% per cent
per period. This is the sum of the constant for 8 periods (1.14888178) plus the
constant for 9 periods (1.16898721), namely 2.31786899; when divided by two,
this gives the approximate constant for 8% periods, namely 1.15893449. For the
benefit of the meticulous, we point out here that the answer arrived at by arith-
metic interpolation necessarily is not exactly correct, but that the error must be
a small part of the total difference between the constant for eight periods and the
constant for nine periods, which total difference is only®.62010543. Taking this
as .02 out of 1.14, it i3 1.764% of the amount of the con‘stant or less than 1 part
in 67.
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relatively small gifts such as we are describing, the saving is so huge
on the estate tax that the loss of compound interest on the gift tax
money is a relatively insignificant item. It will be seen by inspection
of table I that it is only when the gift gets quite large with respect
to the size of the estate that the gift tax plus the increase gets to be a
considerable amount. It should be borne in mind that the net saving
shown in column (i) is affer recoupment for the amount of the gift
tax plus the amount of interest lost on the gift tax money. It should
also be observed that if the taxpayer assumes that he will live for a
longer period, such as ten years, this will have a double effect because
the constant used at the heading of column (d) will also be Increased.
In other words, the income which would have been received by our
taxpayer and would have been on hand, aecording to our assumptions,
at the date of his death ten years hence, would be diverted from him
to the beneficiary or beneficiaries with a resultant saving in estate
tax which would be reflected in column (g) and the only real cost
involved in the situation would be the amount of income, net of income
taxes, lost by reason of the payment of the gift tax itself. Depending
upon the size of the gift, the saving in estate taxes due to diversion of
income to the beneficiaries for a longer period than the three years
assumed in the table may more than offset the additional interest or
other income lost on the gift tax money. An inspection of the table
shows that for an interest rate of 134 per cent compounded semi-
annuzlly, one dollar would amount to $1.41477820 at the end of the
twentieth period, which means, roughly speaking, that one dollar in
gift taxes paid on the date of the gift would have grown to $1.41 ten
years from the date of the gift.

The estate planner should recognize that if a gift is to be made by a
relatively young person, then all of the considerations involved should
be carefully weighed, because the factor of elapse of time with respect
to the gift tax money might become serious if the gift is large and
the gift tax is, therefore, large relative to the size of the gift. How-
ever, in practice, most large gifts are made by people who are some-
what along in years, to say the least, and frequently they are made
by persons with whom it is open to serious doubt whether they can
reasonably count on living for the requisite three year period, so the
constant shown in the heading of column (h) is realistic in a large
number of cases.

As said before, it is not recommended that this factor be ignored,
but simply that a different table be constructed using the proper con-
stant for such number of years as is deemed to adequately represent
the probable life expectancy, with some margin for safety. Frequently
the anticipated growth of the estate, due to wise investments, will be
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much more than 314 per cent compounded semi-annually, net after in-
come taxes, which would increase the putative saving in most in-
stances.

Construction of Table II.

Table 1I is also for a single man, but one of considerably smaller
means, since his estate at the present time is such that with the antici-
pated rate of increase over the next three years, he will be possessed
at the date of his death of a taxable estate of $250,000. Without going
into detail as to the construction of table II, which is quite similar to
that of table I since the assumptions are the same excepting as to the
amount of the estate, it may be seen by inspecting column (i) that on
the assumptions made, a gift of $130,000 is the largest gift which
would reflect a theoretical saving such that it would not be increased
by making the gift any larger. That is to say, even if the hypothetical
taxpayer gave away his entire estate so that by the time he paid his
gift tax he would have nothing left, as is demonstrated by line 18 of
table II, he would still have a theoretical saving of $12,729.26 after
allowing for the gift tax paid plus compound interest on the gift tax
money. The purpose in carrying out the table to this length was not
on the supposition that any client is likely to desire to emulate our
hypothetical taxpayer, but rather to show that the savings inherent
in making gifts, even those calling for substantial gift taxes, are so
great, that with respect to the hypothetical taxpayer under the condi-
tions assumed, it would not be possible for him to lose money net by
making a gift, no matter how large it was, since he cannot do more
than give away all that he has, and a gift of his entire assets would
still save him money net. However, it is to be observed that his best
saving would be obtained by a gift of approximately $130,000 as
shown on line 15, which would give him a saving in estate taxes of
$44,908.53 with a gift tax cost, including eompound interest on the
gift tax, of $17,992.46, leaving a net saving for himself and his fam-
ily, considered in the aggregate, of $26,916.07.

Although table II was constructed for a single man, it is usable in
planning for a married man whose estate is exactly twice $250,000,
or $500,000. This relationship, which is explained below,* applies to
estates of all sizes and gifts of all sizes, and realization of this fact
will save considerable labor in estate planning.

The gift tax incurred by a gift of a definite size shown in column
(b), the amount of tax plus gift shown in column (c¢), and the increase
to the hypothetical date of death shown in column (d), of each table,
are the identical figures in all four tables and should be copied rather
than recomputed. )

31. See text section Construction of Table III infra,
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In like manner, the gift tax plus increase shown in column (h) of
tables I and II is the identical amount for a gift of the same size
shown in column (j) of tables III and IV.

Construction of Table III.

Table III should be compared with table I because the assumptions
are the same, excepting that the taxpayer is married. Therefore, we
are reverting back to a total estate on the date of death of $§500,000. It
will be observed that, because of the permissible marital deduction, the
estate tax is computed as if one-half were taxable to each spouse at
the date of death of the taxpayer. This is necessary in order to sim-
plify the consideration of the problem, because, as is known, where
" the taxpayer makes a will providing for the maximum marital deduc-
tion, he is by the same token providing that his spouse will have an

estate tax just as large as he does.>?
~ Tt is, of course, more realistic to introduce a disparity in time be-
tween the deaths of the taxpayer and his spouse. However, for pur-
poses of table-III, we have not done this, but have arbitrarily assumed
that the spouse will die so soon after the death of the taxpayer that
the calculations may be made on the basis that they died on the same
day, excepting that in order to insure the marital deduction we will
say that the wife died on the day following the death of her husband.
We are not unmindful of the likelihood that in many families the wife,
even if approximately the same age as her husband, will outlive him
because of the longer life expectancy of females. This, however, does
not make too much difference in the result because if the wife lives
a longer time, the increase which is reflected in our table III in
column (d) would be greater and, therefore, the estate tax saving
on the estate of the wife.would be increased, the longer she lived. Of
course, we have the same situation with respect to the loss of interest
"on the gift tax money with respect to her, since the saving in her
estate tax does not take place until one year and three months after
she dies, and therefore, the factor represented in the ecolumn, which in
this table is headed (j), would be increased in the event that the wife
lived a longer period than.three years from the date of the gift.
In order to exemplify what is involved, let us consider table III
upon the assumptions which were used in its construction. We here

32. Here we are assuming for planning purposes that the spouse will not, after
the death of her husband, make gifts to avoid the estate taxes on her estate. This
is a realistic assumption if tax saving is the sole consideration, because the spouse,
unless she remarries, will be a single person for gift tax purposes and unable
to split any gifts which she may make. Therefore, in general the gift tax “cost”
of gifts made by the spouse after death of the taxpayer will be greater than the
gift tax “cost” of gifts of the same amount made prior to the taxpayer's death,
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see that line 20 represents the circumstances of the gift which pro-
duces the highest theoretical saving on the assumptions made, i.e., a
net saving of $53,832.12 by making a gift of $260,000 out of a total
estate of $500,000. Referring back to table I, showing the same tax-
payer if he were single, a gift of the same amount of money would not
reflect quite as much of a saving, but would reflect a saving of $53,-
371.50. The optimum situation with respect to table I, however, was a
gift of $300,000, reflecting a saving of $57,755.84; whereas under
table III it is not possible, no matter how much is given away, to
obtain that large a saving. The reason for this is that the estate tax
and the gift tax both bear less heavily upon a married taxpayer than
upon a single taxpayer with the same assets.

Because of the marital deduction privilege for gift tax and estate
tax purposes, a married man contemplating a gift may, for planning
purposes, consider that he will make the samé saving as if he were
two single men making two identical gifts, each equal to one-half of
the amount of the actual gift. This results in a very considerable tax
-benefit to married persons as compared with single persons of identi-
cal wealth.

Construction of Table IV.

Table IV is intended to be contrasted with table II, both applying
to a person having $250,000 of taxable estate at the date of his death,
but table IV is constructed for a married man. It will be seen that
in the case of relatively small estates such as $250,000, the maximum
saving is reached much sooner in the case of a married man; on line
11 a gift of $90,000 is shown to reflect a saving of $18,353.08, which
according to the table is the maximum saving. It must be remembered
that this saving is calculated after charging the situation with the gift
tax “cost,” which is the amount of the gift tax plus an amount repre-
senting the loss of interest on the gift tax money.

It is also seen that the estate tax is wiped out completely by the
time one has reached a gift of $120,000, as appears from column (g),
line 14, and from that point on the putative saving diminishes quite
rapidly, so that if this hypothetical taxpayer would give away all
that he had, first reserving enough {o pay the gift tax, he would ac-
tually by this act have made a net loss as compared with doing nothing
at all, namely the loss shown on line 18, column (k), of $957.23. It
is to be observed also that this table reflects the lifetime exemption
of $30,000, which is available not only for the taxpayer, but also for
his spouse, so that, as is shown on line 8, a gift of $60,000 will not
ineur any gift tax and yet will reflect the saving, shown in column
(), of $15,184.78, and as is also observable from column (j), since
there is no gift tax money paid, there is no loss due to the elapse of
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time between the date of the gift and the date of death. Here we see
by column (d) that the constant representing the increase from the
date of gift to the date of death would be a larger amount if the date
of death occurred more than three years and one day from the date
of the gift and that this is not offset in any manner; but the increase
is reflected in a reduced estate shown in column (e) and ultimately
in a reduced estate tax shown in column (h) with an increased estate
tax saving which would be shown in column (i) as a larger figure
if the amount in column (d) were increased due to the fact that the
death occurred later than three years from the date of the gift.
Therefore, the saving would necessarily be increased by a later date
of death over the amount shown in column (k) for all cases where
no gift tax whatever was paid, and this would be true to a certain
extent even when some gift tax is paid, since the gift tax at first is
a very small amount; whereas the amount of the gift for a married
man is largely exempt from taxation, assuming that the husband and
the wife split the gift between them as is permltted by the Internal
Revenue Codes*

Construction of Figures 1 and 2.

In order to exemplify in graphie form the results of tables I, 1I, -
IIT and IV, we have constructed figures 1 and 2. Figure 1 reflects the
circumstances of a taxpayer having $500,000 of assets at his death as
computed in tables I and IIl, and figure 2 shows the results with
respect to a taxpayer having $250,000 of assets at his death, com-
puted in tables II and IV. The difference between the tables respec-
tively as to each taxpayer is that he is, in one case, assumed to be
single and, in the other case, assumed to be married.

Reverting to figure 1, the reproduction accompanying this article
portrays the curves representing column (i) of table I and column
(k) of table III, respectively, but it does not show the background
ruling of the engineering graph paper upon which these tables were
actually prepared. For reproduction purposes they have been reduced
to approximately one-half size in each dimension.

The curve in each instance is shown as a function of the gift tax
paid and not a function of the fotal gift made. This is because under
our assumptions, the amount of the gift made for the benefit of an-
other member of the family is not deemed to be “lost” money, but
the amount of the gift tax paid to the federal government is deemed
to be “lost” so far as the family is concerned. Referring first to the
single man having $500,000 as shown by table I, he does not incur
any gift tax until he has made a gift of $30,000, and the first figure
shown in table I which incurs a gift tax is a gift of $40,000, which

33. Int. Rev. Code of 1954, § 2513.
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incurs a gift tax of $375.> Therefore, the beginning point of the
single man’s curve in figure 1 is intended to represent horizontally a
distance equivalent to $375 and vertically a distance equivalent to
$13,965.40, being the net saving shown in column (i) of table I. It
will be seen that gift tax money paid is very effective in “buying”
savings until approximately $54,000 of gift tax has been incurred. It
will also be observed that the curve becomes a straight line when the
amount of the gift is increased to $90,000 and that it continues as a
straight line almost until it reaches the peak. As has been stated
before, this peak is reached upon a gift of $300,000 shown on line 22
of table 1, for a gift tax paid of $54,075, shown in column (b) on line
22. At this point, however, the saving falls off rapidly due to the
fact that the estate tax is first reduced to small rates and then wiped
out.’®

The other curve on figure 1 is intended to exemplify the situation
computed in table III. Here the married man can, by reason of the
splitting of gifts, make a much larger gift without incurring any gift
tax, as we have already mentioned, and then incur it at lower rates
per dollar of gift made. But it should be noted that his situation is
such that his curve in figure 1 reaches its peak and turns downward
sooner than it does with respect to the single man with the same
amount of assets. The peak saving here is reached with a gift of
only $260,000.3¢

Figure 2 gives the same freatment to tables IT and IV. It will be
remembered that these tables represent a taxpayer with $250,000 on
the date of his death, table II representing a single taxpayer and table
IV representing a married taxpayer. With respect to table IV, bear-
ing in mind our promises at the beginning of this article not to at-
tempt to display minus quantities, the curve for the married man
stops after exemplifying the data on line 17 of table IV, namely a net
saving of $9,631.19; the dotted portion of the line represents the line's
direction if it had been carried below the base line to represent the
negative quantity of $957.23 shown on line 18 of table IV in column

(k).

34. Obviously any gift over $30,000 by a single person would incur some gift
tax, so it would not be true to say that $40,000 is the smallest gift which would
incur a gift tax.

35. The amount of $6,074.78 estate tax shown on line 22 in column (f) was
computed at a top bracket of only 18 per cent, and the estate tax has disappeared
entirely by the time the amount of the gift reaches $340,000 on line 21.

36. See table III, line 20. .

37. It is suggested that no attempt be made to read the amounts from the
curves showns on figures 1 and 2, since these amounts are definitely set forth in
tables I, II, III, and IV, respectively. The purpose of figures 1 and 2 is to show

. the relationship of the quantities. If the taxpayer or his advisor does construct

i
£
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The curve for the single man in figure 2 is identical in shape with
the curve for a married man in figure 1, so much so that the curves
could be superimposed one upon the other, but the quantities for gift
tax paid and net saving in taxes on figure 2 represent only one-half
as much in dollars as in figure 1. Accordingly, if the curve of figure 2
had been drawn on the same scale as that of figure 1, it would have
had the same shape, but not the same size as the curve for figure 1.3*

Construction of Figures 8 and 4.

There is no objection, of course, to plotting a curve showing the
relationship of the net saving in taxes to the amount of the gift made
rather than to the amount of the gift tax incurred. Figure 8 was
prepared in order to show this relationship as exemplified by table L
Here the net saving is plotted vertically in the same manner as before
with respect to figure 1 for the single person, but the horizontal scale
has been changed so as to plot the much larger quantities represented
by column (2), namely the amount of the gift. Therefore, we start
with a gift of zero amount and a saving of zero amount in the lower
left hand corner of the figure, which moves on to a saving of $1,775.52
on the vertical scale for a gift of $5,000 on the horizontal secale. It
should be observed that the amount of dollars represented by one
square vertically in the figure is not the same as the amount repre-
sented by one square horizontally. On the contrary, the same distance
which represents $5,000 vertically represents $20,000 horizontally.
This should be borne in mind and no inference should be drawn from
the slant of the curve on figure 3; on figures 1 and 2, of course, the

these curves as recommended by this article, they will be on engineering paper
which does have the small squares, so that results can be interpolated and directly
read from the curve on the engineering paper. The mechanieal problems involved
in reproducing the engraved lines present on the engineering graph paper were
such that it was deemed best not to attempt i, espécially since the engineering
paper has the background lines in green, whereas, the curves made by the estate
planner will be in ink or pencil and, therefore, willstand out prominently.

38. This comes about because of the manmer of taxation of married men—
namely, the amount of the gift is split and the amount of the estate is split with
the spouse. Therefore, the gift by the married man is consxdered for taxation as
if it were two gifts each of one-half of the amount given. Since we purposely
made the hypothetical estate of the taxpayer in figure 2 equal to exactly one-half
of the estate of the taxpayer in figure 1, the relationship of one dollar paid in
gift taxes to one dollar net saving for each of the identical “halves” of the estate
in figure 1 was identical with the same items on all of figure 2. Therefore, the
curve representing one-half of the married man’s estate in figure 1 would have
been identical with the curve of all of the single man’s estate in figure 2 if the
scale had been the same., Also the curve representing the arithmetic sum of the
quantities for both halves of the married man’s estate in figure 1 would have the
same shape as the curve for the single man in figure 2, but the distances sub-
tended by it would be doubled both vertically and horizontally.



Ficure 3
. R

3o — - ;

5 //
;o 20 44 LG O 10d 120 /40 /4Q [0 200 220 240 2(0 250 Zco 320 348 o 3fo 400
single
fot— made. (000 omitted .)

Net saving in taxes as a function of amount of gift, for a single taxpayer,
assuming death occurs three years and one day after date of gift and estate
valuation is $500,000 at date of death. Interest increment 814 per cent per annum
net after income taxes, compounded semi-annually. Data from table 1.

FIGURE 4

%
N

Y
7

%
N

Vi
7

n
oy

¥

Net saving ntaves (oo

o

N

O 20 49 40 50 100 120 /40 1l 150 2c0 .20 e 2 26 3 320 34 360 3f0 409
mavrried
Gift made ~ Coow cimitied.)

Net saving in taxes as a function of amount of gift, for a married taxpayer,
assuming death occurs three years and one day -after date of gift and estate
valuation is 500,000 at date of death. Interest increment 3% per cent per annum
net after income taxes, compounded semi-annually, Data from table IIL.

Copyright 1968, Washington Univeraity.

5
o
?




USE OF GRAPHS 373

slant of the eurve is significant since the horizontal and vertical scales
are of equal value. It should also be noted that until the curve gets
very near the top in all of these instances in figures 1 and 2, the slant
is better than 45 degrees, which means that a dollar spent by way of
gift tax comes back more than three hundred per cent, i.e., there is
a recovery of the spent dollar plus two dollars in savings. For example,
on table I, line 13 shows that $15,558.70 gift tax plus interest results
in a gross saving of $47,379.85 in estate taxes, more than three times
the amount of the gift tax paid plus the compound interest on the
gift tax money.

Figure 4 is similar to figure 8, but was prepared to show the rela-
tionship between net saving in taxes and amount of gift where the
donor is a married man. This relationship is exemplified by table III.

Construction of Table V.

1t is possible, of course, to use graphic presentation and tables for
other purposes than gift taxes. For example, these may be used to
show the continuous relationship between the increasing size of an
estate and the probable estate taxes on the estate. Here we are assum-
ing the taxpayer has a present net worth of $250,000.5* We assume
that his wife has a present net worth of $50,000, so that the total net
worth of the spouses is $300,000. The purpose of table V is to show
how these estates would grow if the taxpayer was able to save from
his salary, after payment of current income taxes on the salary, ete.,
$15,000 per year and his wife was able to save from her invested
income, after payment of income taxes thereon, the sum of $1,750 per
yvear. It is assumed that the money which is saved can be invested so
that it will net the taxpayer and his wife 314 per cent per annum,
compounded semi-annually, after income taxes thereon. It is recog-
nized that this is necessarily a rather arbitrary assumption but it has
utility as a rough guide. An amount other than 314 per cent could,
of course, be used, based on the particular situation of particular tax-
payers. To construct table V we have recourse to published tables,
such as those previously referred to, which greatly reduce the amount
of labor involved in making a fairly reliable prediction of the value of
the estate of the husband and the wife, supposing that they both live
and accumulate money as stated. Line (d) shows the factor for three
yvears with semi-annual rests to be 6.26870596. This is found from a
table giving the “amount of an annuity of unit value per period after
a term of n periods at rate of interest of ¢ per period,”*® and while it

39. This is a variation from our previous assumption, i.e., that the taxpayer’s
estate had this valuation ouly at the end of three years.

40. Standard Tables 354 (line &, right hand column).
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might be possible to compute this the long-way around for three years
by making six computations, it would be quite out of the question
to do this for a ten year period and more out of the question for a--
twenty year period. Yet, as will be seen by line (m) of table V, the
factor for twenty years, which would be at the end of forty rests, is
57.2341339, which means that upon the hypothesis taken, one dollar
received at the end of each six month period, together with compound
interest, would amount to $57.28 + in twenty years. It is observable
that in line (c¢), since we are making semi-annual rests, we must
divide the annual savings in half in order to find the amount per half
year which is to be multiplied by each factor respectively.

The results of table V are shown on figure 5 for the husband by the
curve marked (b) and for the husband plus the wife by the curve
marked (2) and the distance between the curves (2) and (b) at any
point in time will, of course, be the amount of growth of the wife’s
estate up to that point.
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Growth of estates of (a) husband and (b) husband and wife as a function of
elapse of time with corresponding estate taxes on estates of both spouses, assum-
ing beginning valuations of estate of husband to be $250,000 and wife $50,000.
Interest increment 3% per cent per annum net after income taxes, compounded’

semi-annually. Data from tables V and VI,
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Construction of Table VI.

Table V1 is intended to show the estate tax burden, assuming either
maximum marital deduction or no marital deduction or optimum
marital deduction for the same hypothetmal estate and for the same
hypothetical periods. It is generally advisable to make such a caleula-
. tion during the initial conferences with the client in order to demon-
strate what his situation will be if he does not make any gifts or
otherwise take steps toward reduction of his taxes. It will be seen
that the curves on the graph for no marital deduction and for optimum
marital deduction are not very far apart. The optimum marital de-
duction is the amount of marital deduction which will result in the
estate of the wife and the husband being the same absolute amount.
It is computed by adding together the estate of the husband plus the
estate of the wife, dividing by two and then subtracting the amount
of the wife’s estate. It has been found that most taxpayers do not
desire to utilize optimum marital deduction, but insist upon maximum
marital deduction, unless the wife’s estate is extremely large. It was
not practical to show thé maximum marital deducation on figure 5
because it coincides too closely with the optimum marital deduction.
In fact, for practical purposes one may read curve (d) as represent-
ing maximum marital deduction as well as optimum marital deduc-
tion. The quantitative difference is, of course, shown as the difference
between the amounts of lines (i) and (j) on table VI. For example, at
the end of ten years, the maximum marital deduction results in an es-
tate tax of $94,797.30 on the death of the husband, whereas optimum
marital deduction results in an estate tax of $94,950 on the death of
the husband. Frequently the brackets are such that the aggregate
of amounts paid on both-deaths will be exactly the same whether one
uses optimum marital deduction or maximum marital deduction; if
there is any difference it will probably be slight, so there is little
reason to urge taxpayers to depart from the * commumty custom”
which seems to be to insist most definitely on the maximum marital
deduction.

CONCLUSION

The purpose of this artlcle is two-fold first, to show the extraor-
dinary results in tax savings to be obtained through gifts made by
taxpayers whose resources are large enough to make them advisable;
and, second, to show how a tax planner may have recourse to methodi-
cal calculations and definite hypotheses in order to limit the area of
uncertainty and bring into a rather complex situation a semblance of
order, so that a taxpayer may with some assurance make rather radi-
cal changes in his affairs.

It stands to reason that a taxpayer who is advised to give away
possibly one-third or one-fourth of his net assets wants to be reason-
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ably well assured that the step is in the right direction and that it will
redound to the benefit of himself and his family, substantially in the
manner which has been presented to him. It is believed that the use
of tables and graphs in the manner suggested by this article will
largely contribute to that assurance and make it possible for a tax-
payer with reasonable assurance to take much more drastic steps to
the end result of much greater savings for himself and his family than
he would have been able to do had these or equivalent techniques not
been used. Lastly, it is believed that in actual practice the plotting
of curves on the engineering engraved paper from relatively few
calculations will enable one to eliminate much work by reading suffi-
ciently accurate results directly from the graphs themselves.



